
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier par des puissances de dix ( nombre
manquant )

3, 283 × ________ = 32.83 6, 824 × ________ = 682.4

7, 067 × ________ = 706.7 8, 096 × ________ = 8096

4, 549 × ________ = 4549 9, 139 × ________ = 91.39

2, 572 × ________ = 25.72 10, 918 × ________ = 109.18

3, 876 × ________ = 38.76 6, 309 × ________ = 6309

3, 694 × ________ = 369.4 1, 44 × ________ = 144

4, 566 × ________ = 456.6 7, 23 × ________ = 7230

10, 516 × ________ = 1051.6 8, 239 × ________ = 8239

8, 569 × ________ = 85.69 8, 776 × ________ = 877.6

8, 869 × ________ = 88.69 8, 46 × ________ = 84.6

www.snowmath.com

https://www.snowmath.com


Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier par des puissances de dix ( nombre
manquant )

3, 283 × 10 = 32.83 6, 824 × 100 = 682.4

7, 067 × 100 = 706.7 8, 096 × 1000 = 8096

4, 549 × 1000 = 4549 9, 139 × 10 = 91.39

2, 572 × 10 = 25.72 10, 918 × 10 = 109.18

3, 876 × 10 = 38.76 6, 309 × 1000 = 6309

3, 694 × 100 = 369.4 1, 44 × 100 = 144

4, 566 × 100 = 456.6 7, 23 × 1000 = 7230

10, 516 × 100 = 1051.6 8, 239 × 1000 = 8239

8, 569 × 10 = 85.69 8, 776 × 100 = 877.6

8, 869 × 10 = 88.69 8, 46 × 10 = 84.6
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